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Тема: ЭДС индукции в движущихся проводниках. 

№ 1 

Магнитная 

индукция, Тл 

Скорость, м/с Длина 

проводника, м 

Угол между       

В и I 

ЭДС индукции, 

В 

12 мТл 5,8 км/ч 1,3 м 600 ? 

Дано:                               

𝐵 = 12 мТл 

𝓋 = 5,8
км

ч
    

∆𝑙 = 1, 3 м 

𝛼 = 600 

Найти: 

 𝜀𝑖− ? 

СИ 

12 ∙ 10−3Тл 

1,61 м/с 

Решение: 

 𝜀𝑖 = 𝐵𝓋∆𝑙𝑠𝑖𝑛𝛼   

[ 𝜀𝑖] = Тл ∙
м

с
∙ м =

Н ∙ м ∙ м

А ∙ м ∙ с
=

Н ∙ м

А ∙ с
=

Дж

А ∙ с
=  

В ∙ Кл

А ∙ с
= 

=
В ∙ Кл ∙ с

Кл ∙ с
= В    

 𝜀𝑖 = 12 ∙ 10−3 ∙ 1,61 ∙ 1,3 𝑠𝑖𝑛600 = 21,6 ∙ 10−3(В)     

Ответ:  𝜀𝑖 = 21,6 ∙ 10−3(В)     

 

№ 2 

Магнитная 

индукция, 

Тл 

Скорость, м/с Длина 

проводника, м 

Угол между      

В и I 

ЭДС индукции, 

В 

? 3,7 км/ч 1,4 м 900 12 мВ 

Дано:                               

 𝜀𝑖 = 12 мВ 

𝓋 = 3,7
км

ч
  

∆l = 1, 4 м 

𝛼 = 900 

Найти: 

В− ? 

 

СИ 

12 ∙ 10−3В 

1,03 м/с 

Решение: 

 𝜀𝑖 = 𝐵𝓋∆𝑙𝑠𝑖𝑛𝛼 =>   𝐵 =
𝜀𝑖

𝓋∆𝑙𝑠𝑖𝑛𝛼
       

[B] =
В ∙ с

м ∙ м
∙
Кл

Кл
=

Дж ∙ с

м2 ∙ Кл
=

Н ∙ м ∙ с

м2 ∙ Кл
=

Н ∙ с

м ∙ Кл
=

Н

м ∙ А

= Тл      

𝐵 =
12 ∙ 10−3

1,03 ∙ 1,4 𝑠𝑖𝑛900
= 8,32 ∙ 10−3(Тл)    

Ответ: B = 8,32(Тл)  

 

№ 3 

Магнитная 

индукция, 

Тл 

Скорость, м/с Длина 

проводника, м 

Угол между      

В и I 

ЭДС индукции, 

В 

12 мТл ? 1,3 м 450 14 мВ 

Дано:                               

 𝜀𝑖 = 14 мВ 

В = 12 мТл 

∆l = 1, 3 м 

𝛼 = 450 

Найти: 

𝓋− ? 

 

СИ 

14 ∙ 10−3В 

12 ∙ 10−3Тл 

Решение: 

 𝜀𝑖 = 𝐵𝓋∆𝑙𝑠𝑖𝑛𝛼  =>    𝓋 =
𝜀𝑖

𝐵∆𝑙𝑠𝑖𝑛𝛼
 

[𝓋] =
В

Тл ∙ м
=

В ∙ А ∙ м

Н ∙ м
=

В ∙ А ∙ м

Дж
=

В ∙ А ∙ м

В ∙ Кл
= 

=
А ∙ м

Кл
=

Кл ∙ м

Кл ∙ с
=

м

с
   

𝓋 =
14 ∙ 10−3

12 ∙ 10−3 ∙ 1,3 𝑠𝑖𝑛450
= 1,26 (

м

с
)     

Ответ: 𝓋 = 1,26 (
м

с
) 
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№ 4 

Магнитная 

индукция, 

Тл 

Скорость, 

м/с 

Длина 

проводника, м 

Угол между  

В и I 

ЭДС индукции, В 

7 мТл 4,8 км/ч ? 900 12 мВ 

Дано:                               

 𝜀𝑖 = 12 мВ 

В = 7 мТл 

𝓋 = 4,8 
км

ч
  

𝛼 = 900 

Найти: 

∆l− ? 

 

СИ 

12 ∙ 10−3В 

7 ∙ 10−3Тл 

1,33
м

с
 

Решение: 

 𝜀𝑖 = 𝐵𝓋∆𝑙𝑠𝑖𝑛𝛼      

∆𝑙 =
𝜀𝑖

𝓋𝐵𝑠𝑖𝑛𝛼
     

[∆l] =
В ∙ с

м ∙ Тл
=

В ∙ с ∙ А ∙ м

м ∙ Н
=

В ∙ с ∙ А

Н
=  

В ∙ с ∙ Кл

Н ∙ с
=  

=
В ∙ Кл

Н
=

Дж

Н
=

Н ∙ м

Н
= м    

∆l =
12 ∙ 10−3

7 ∙ 10−3 ∙ 1,33 sin 900
= 1,29(м)    

Ответ: ∆l = 1,29(м) 

 

№ 5 

Магнитная 

индукция, 

Тл 

Скорость, 

м/с 

Длина 

проводника, м 

Угол между  

В и I 

ЭДС индукции, В 

10 мТл 7,3 км/ч 1,6 м ? 12 мВ 

Дано:                               

 𝜀𝑖 = 12 мВ 

В = 10 мТл 

𝓋 = 7,3 
км

ч
   

∆l = 1,6 м 

Найти: 

𝛼− ? 

 

СИ 

12 ∙ 10−3В 

10 ∙ 10−3Тл 

2,03
м

с
 

Решение: 

 εi = B𝓋∆lsinα      

sinα =
εi

B𝓋∆l
      

[sinα] =
В ∙ с

Тл ∙ м ∙ м
=  

В ∙ с ∙ А ∙ м

Н ∙ м ∙ м
=

В ∙ с ∙ А

Н ∙ м
=

В ∙ с ∙ Кл

Н ∙ м ∙ с
= 

=
В ∙ Кл

Н ∙ м
=

Дж

Дж
= 1   

sinα =
12 ∙ 10−3

10 ∙ 10−3 ∙ 2,03 ∙ 1,6
= 0,37;     α ≈ 220    

Ответ:   α ≈ 220  

 

 


